NS R E G ERAT B $9i [ SE & R ME, B, BR%

JSL-pea sz

1 Y B
1 - C S L-8632-1-2I
i by 4
2B MR B RE RE
| HRED RIS R khEE
BiTFATHAS T . A
WBE. MR R REACE
PR RAY WNIRLE R B E AR RmabrE TR
JSL H B3R BB & A @ik, HEEEE | AET HRB8O BY HB150
WESL W2 WELL TZIELER RE B/ A C E T =N
S5l -8 P S| R5g +0. 08 g wE BR BA | £0.25 | +0.25 | FLiAEE
M3 x 0.5 JSL M3 4,22 1 1 0. 98 4,2 6. 35 1.5 4.8
2 1.4 1. 38
M3.5 x 0.6 JSL M3. 5 4.75 1 1 0. 98 4. 73 7.11 1.5 5.6
2 1.4 1. 38
M4 x 0.7 JSL M4 5.41 1 1 0. 98 5. 38 7.87 2 6.9
2 1.4 1. 38
M5 x 0.8 JSL M5 6. 35 1 1 0. 98 6. 33 8. 64 2 7.1
2 1.4 1. 38
M6 x 1 JSL M6 8.75 1 1.4 1. 38 8.73 11.18 4,08 8.6
2 2.3 2.21
M8 x 1.25 JSL M8 10.5 1 1.4 1. 38 10. 47 12.7 5. 47 9.7
2 2.3 2.21
M10 x 1.5 JSL M10 14 1 2.3 2.21 13.97 17.35 7.48 13.5
2 3.18 3.05
R~ (AL BE~F in)
BEESL B2 RE BREL ZIEAER wRE =N A C E T =N
P R v +. 003 vz w®E O BA | £.010 | £.010 | Fi4FE
418-40 JSL 440 . 166 1 - 040 - 038 . 165 . 250 . 070 .19
2 . 056 . 054
6H#-32 JSL 632 . 1875 1 - 040 - 038 . 187 . 280 . 070 .22
2 . 056 . 054
8#-32 JSL 832 . 213 1 - 040 - 038 . 212 . 310 . 090 .27
2 . 056 . 054
10#-32 JSL 032 . 250 1 - 040 . 038 . 249 . 340 . 900 .28
2 . 056 . 054
1/4-20. JSL 0420 . 344 1 - 056 - 054 . 343 . 440 . 170 .34
2 . 091 . 087
5/16-18. JSL 0518 . 413 1 - 056 . 054 . 412 . 500 . 230 . 38
) . 091 . 087
3/8-16. JSL 0616 . 500 1 - 900 . 870 . 499 . 625 . 270 .44
) 125 .120
iR 13914003355 (FH5E4) BR % #): 13914002255 (BhoeA)

BEJERS: 13511601078 (F4E) A ML www.szjdph.com



7N ERRRE G BRAE

B $i E PR &

miBR. BEE. BFEh. RS

PERESH-JSL A SRE

R HE MHRAR 41 57
B | By | R/E in. Ibs. 5052-H34 45 KHELAN
RE RS R T T B | mEh | s | mmA | ZEH | S | HBS
HsE H5E 1bs. 1bs. in. 1bs. 1bs. 1bs. in. 1bs.
1 90 10 125 15
JSL 440 ;] 575 | 0.4 | 1500-2000 70 3 2500-3500 230 5
1 95 17 130 20
N JSL 632 ;] 10.5 | 0.8 | 2500-3000 190 = 3000-6000 275 28
= JSL 832 L 18 1.2 | 2500-3000 105 23 4000-6000 145 35
1 2 ' 220 35 285 45
1 110 32 180 40
JSL 032 . 21 1.65 | 2500-3000 190 0 4000-9000 250 m
1 360 90 400 150
JSL | 0420 —, 35 3.75 | 4000-7000 260 o5 6000-9000 100 50
1 380 120 420 165
JSL | 0518 —, 53 | 4.75 | 4000-7000 280 60 6000-8000 120 50
1 400 270 460 320
JSL | 0616 —, 95 6.3 | 5000-8000 100 570 | 7000-11000 — = 320
B HE AR 7
PR | BBEL | RE N.m 5052-H34 45 EL
RE AW | KRB e [ g | slh | My | mmA | 2% | B | S
HE | HE KN N N.m KN N N.m
JSL M3 L1067 | 0.04 6.7-8.9 400 L13 1) o156 550 L7
2 ' : - e 750 1. 47 e 1010 2.03
1 400 1.92 570 2.3
BSLo| M85 —, 1.2 | 0.08 | 11.2-13.5 S10 o e 13.4-26.7 o0 23
1 470 2.6 645 4
JSL M4 . 2.1 | 0.13 | 11.2-13.4 570 7 18-27 1950 =
1 480 3.6 800 4.5
JSL M5 . 2.4 | 0.18 | 11.2-15.6 T X 18-38 13 s
1 1580 10. 2 1760 17
JSL M6 . 4 0.3 18-32 580 e 97-36 760 T
1 1570 13.6 1870 18. 7
JSL = 2 6 0.5 e 1570 18.1 27-36 1870 20. 3
1 1760 32.7 2020 36. 2
JSL M10 ; 12 0.8 22-36 760 o 39-50 2020 362
VE: SIREFRPEMRE. B 1KES 3 KEFBRATFRRNHILS.
BE R 22 25 1 B WE R 22 %8 7
1. FELEER EMPFHENR TR ZEA, FERBIHTENEBRERZ KM Q%Z%%/fa\
ZIRINL; ="
2. BHBREONEE IR TES, RE¥RET (REFRNILE) BHEER (7 L)

k& BT naED ;

3. fREF B (Ziepb k) AT OUREE P47, MEEREKEHEIFAT
HrES, BEENRRESCEEM SRR, IXPIR R T LUK A 2R W
BAFEIR L ;

4. BREESLHR A B B BB R AR R RRTEHT IR AN T2, T 1 3K [E 1
RN B AR B i s FE R HERL AT BARR 1k 22580 5 ) SR B R AR 4% 30

TR

B ESZE: 13914003355 (FH4A)
SRS 13511601078 (F54)

ARG 13914002255 (BhsieA)

a3 www.szjdph.com



